
３ ３
１なので ８３ ３

８ ＝３
１

１
③ と ８３ ３

４なので ３５ ５ ５ ５

３ ＝５
４

４
② と ３５ ５

２なので ６４ ４ ４ ４

６ ＝ ＝４ ４ ４
２ ６×４＋２

日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

２
① と ６４ ４

① 例題

１

27

27 26 27

26

18

18 19 18

26

26 25 26



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

５
① と ４６ ６

４ ＝ ＝６ ６ ６
５ ４×６＋５

５なので ４６ ６ ６ ６

２
② と ５３ ３

５ ＝３
２

２なので ５３ ３ ３ ３

３
③ と ２７ ７

２ ＝７
３

７ ７
３なので ２７ ７

② 確認

２

31

31 29 31

16

16 17 16

16

16 17 16

29



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

３
① と ５８ ８

５ ＝ ＝８ ８ ８
３ ５×８＋３

３なので ５８ ８ ８ ８

１
② と ３４ ４

３ ＝４
１

１なので ３４ ４ ４ ４

２
③ と ４９ ９

４ ＝９
２

９ ９
２なので ４９ ９

③ 確認

３

41

41 43 41

11

11 13 11

37

37 38 37

43



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

５ ３
① と １４ ４

７１ ＝ ＝４ ４ ４
３ １×４＋３

５ ７ ５ ３なので １４ ４ ４ ４

１
② と ８２ ２

８ ＝２
１

１なので ８２ ２ ２ ２

５
③ と ９６ ６

９ ＝６
５

６ ６
５なので ９６ ６

④ 確認

４

19

19 17 19

61

61 59 61



７

２×８＋７ ＝８ ８

７

９６ ６ ２

⑤ ４ ⑩ １４ ４

２

３ ５

４

１ １

４
１

④ ２ ⑨

③ ２ ⑧ ３５ ５
１

４

⑥ ５

２５ ５
② ２ ⑦

３
７ ７

日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

７ １
① ２ ３８ ８ ３

⑤ 定着 答え

５

17

11

16

15

21

16

12

14

21

14

23



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

３ １
① ３ ４

⑥ ２４ ４ ４

＝４ ４
３×４＋３

２ ４
② ５ ⑦ ３３ ３ ７ ７

４ １
③ ３ ⑧ ６５ ５ ５ ５

１ ２
④ ７ ⑨ ４２ ２ ３ ３

５ ５
⑤ ４ ⑩ ５６ ６ ８ ８

⑥ 定着

６

16

47

24

29

17

19

18

14

27

10



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

５ １
① ６ ３

⑥ ４７ ７ ３

＝７
6×7＋5

３ ３
② ８ ⑦ ４４ ４ ５ ５

１ １
③ ５ ⑧ ７６ ６ ８ ８

２ ２
④ ５ ⑨ ４３ ３ ７ ７

１ １
⑤ ３ ⑩ ６８ ８ ２ ２

⑦ 定着

７

29

11

24

59

50

33

27

19

27

11



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

４ １
① ９ ８

⑥ ５５ ５ ８

２ ５
② ５ ⑦ ３３ ３ ６ ６

３ １
③ ３ ⑧ ４７ ７ ３ ３

５ ３
④ ８ ⑨ ３６ ６ ４ ４

３ ３
⑤ ６ ⑩ ８４ ４ ５ ５

⑧ 定着

８

17

44

19

14

51

16

23

49

29

39



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

３ ２
① ４ ３

⑥ ９７ ７ ３

５ ３
② 5 ⑦ ５６ ６ ４ ４

４ ４
③ ５ ⑧ ７５ ５ ５ ５

１ ３
④ ７ ⑨ ３２ ２ ５ ５

１ ３
⑤ ４ ⑩ ８３ ３ ８ ８

⑨ 定着

９

17

65

21

38

30

34

31

17

14

31



４
⑤ ４ ⑩ １７ ７ ４

３ ３ ５

４

１ １

４
１

９６ ６ ２ ２
④ ２ ⑨

③ ２ ⑧ ３５ ５
１

２

⑥ ５

２３ ３
② ２ ⑦

３
８ ８

５ ５ ３

日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

４ １
① ２ ３

⑩ 仕上げ 答え

10

17

10

15

13

17

12

14

30

14



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

１ １
① ２ ４

⑥ ４６ ６ ４

２ ２
② ５ ⑦ ３３ ３ ５ ５

７ １ １
③ ２ ⑧ ３４ ４ ６ ６

４ ２
④ ４ ⑨ ４５ ５ ３ ３

５ ３
⑤ ３ ⑩ ６８ ８ ７ ７

⑪ 仕上げ

11

16

16

23

15

15

23

27

15

44



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

１ ２
① ５ ３

⑥ ５８ ８ ３

３ ９ １
② ６ ⑦ ３４ ４ ２ ２

５ ３
③ ４ ⑧ ２７ ７ ５ ５

２ ３
④ ６ ⑨ ４３ ３ ７ ７

５ ２
⑤ ７ ⑩ ５６ ６ ３ ３

⑫ 仕上げ

12

29

14

39

25

19

43

16

16

32



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

８ １ １
① ２ ２

⑥ ８３ ３ ２

３ ３
② ６ ⑦ ４８ ８ ４ ４

９ １ ３
③ ２ ⑧ ６５ ５ ５ ５

７ ５
④ ３ ⑨ ３９ ９ ８ ８

２ ３
⑤ ９ ⑩ ４３ ３ ７ ７

⑬ 仕上げ

13

31

34

53

32

28

19

32

21



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

１ ４
① ５ ７

⑥ ４６ ６ ７

２ ５
② ２ ⑦ ７３ ３ ９ ９

１ ４
③ ４ ⑧ ６５ ５ ５ ５

１ ７ ２
④ ２ ⑨ ６４ ４ ３ ３

２ ３
⑤ ６ ⑩ ３７ ７ ８ ８

⑭ 仕上げ

14

22

36

10

43

31

25

67

33

22



５４ ４ ３ ３

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

２ １
① ６ ⑥

３ ５
② ２ ⑦ ４７ ７ ６ ６

４ １
③ ３ ⑧ ３５ ５ ４ ４

１ ２
④ ２ ⑨ ５６ ６ ３ ３

１ ５
⑤ ８ ⑩ １３ ３ ７ ７

⑮ ⼒だめし

15

11

15

16

14

14

目指せ75点！

27

18

26

31

16



５９ ９ ３ ３

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

２ ２
① ３ ⑥

３ ５
② ６ ⑦ ６７ ７ ６ ６

１ １
③ ３ ⑧ ８５ ５ ４ ４

１ １
④ ７ ⑨ ５６ ６ ４ ４

１ １
⑤ ８ ⑩ ２８ ８ ７ ７

⑯ ⼒だめし

16

13

35

44

41

20

目指せ75点！

28

14

63

43

19



３ ３
１＞ なので ＞ ８３ ３

８ ＝ ＝３ ３ ３
１ ８×３＋１

１
③ と ８３ ３

４＜ なので ＜ ３５ ５ ５ ５

３ ＝ ＝５ ５ ５
４ ３×５＋４

４
② と ３５ ５

２＞ なので ＞ ６４ ４ ４ ４

６ ＝ ＝４ ４ ４
２ ６×４＋２

日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

２
① と ６４ ４

① 例題 答え

１

27

27 26 27

18

18 19 18

26

26 25 26

26

19

25



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

５
① と ４６ ６

４ ＝ ＝６ ６ ６
５ ４×６＋５

５＞ なので ＞ ４６ ６ ６ ６

２
② と ５３ ３

５ ＝ ＝３ ３ ３
２ ５×３＋２

２< なので < ５３ ３ ３ ３

３
③ と ２７ ７

２ ＝ ＝７ ７ ７
３ ２×７＋３

７ ７
３＜ なので ＜ ２７ ７

② 確認 答え

２

31

31 29 31

16

16 17 16

16

16 17 16

29

17

17



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

３
① と ５８ ８

５ ＝ ＝８ ８ ８
３ ５×８＋３

３< なので < ５８ ８ ８ ８

１
② と ３４ ４

３ ＝ ＝４ ４ ４
１ ３×４＋１

１< なので < ３４ ４ ４ ４

２
③ と ４９ ９

４ ＝ ＝９ ９ ９
２ ４×９＋２

９ ９
２＜ なので ＜ ４９ ９

③ 確認 答え

３

41

41 43 41

11

11 13 11

37

37 38 37

43

13

38



日にち：　　　月　　　日

名まえ

５ ３
① と １４ ４

７１ ＝ ＝４ ４ ４
３ １×４＋３

５ ７ ５ ３＜ なので ＜ １４ ４ ４ ４

１
② と ８２ ２

８ ＝ ＝２ ２ ２
１ ８×２＋１

１＞ なので ＞ ８２ ２ ２ ２

５
③ と ９６ ６

＝６ ６ ６
５ ９×６＋５

６ ６

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

５> なので > ９６ ６

９ ＝

④ 確認 答え

４

19

19 17 19

61

61 59 61

17

59



５×３＋１ ＝３ ３

５＋４ ＝５ ５

３×４＋１ ＝４ ４

４＜

２×

＝２ ２

１×７＋５ ＝７ ７

７

９＝６ ６

４×４＋３ ＝４ ４

２×７＋３ ＝７ ７

⑤ ＞ ４ ⑩ １ ＞４ ４ ７
３ ５

１

×２＋１

１ １

９２

×５＋１ ＝５ ５

２×６＋１

④ ２ ＜ ⑨ ＜

③ ＞ ２ ⑧ ３５ ５ ４

６ ６ ２
１

２

３ ４
② ２ ＞ ⑦ ＞ ２７ ７ ５ ５

２×８＋７ ＝８ ８

日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

７ １
① ＜ ２ ３

⑥ ５ ＞８ ８ ３

⑤ 定着 答え

５

17

11

16

15

21

16

12

14

21

14

23

17

11

13

19 12

19

13

14

16



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

３ １
① ＞ ３ ４

⑥ ２ ＜４ ４ ４

＋１ ９＝ ＝４ ４ ４ ４
３×４＋３ ２×４

２ ４
② ５ ＜ ⑦ ＜ ３３ ３ ７ ７

５×３＋２ ＝ ＝３ ３ ７ ７
３×７＋４

４ １
③ ＜ ３ ⑧ ６ ＞５ ５ ５ ５

３×５＋４ ＝ ＝５ ５ ５ ５
６×５＋１

１ ２
④ ７ ＞ ⑨ ＞ ４２ ２ ３ ３

７×２＋１ ＝ ＝２ ２ ３ ３
４×３＋２

５ ５
⑤ ＜ ４ ⑩ ５ ＜６ ６ ８

８
５×８＋５

８

４×６＋５ ＝ ＝６ ６ ８

⑥ 定着 答え

６

16

47

24

29

17

19

18

14

27

10

15

17

19

15

29 45

14

31

25



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

５ １
① ＞ ６ ３

⑥ ４ ＞７ ７ ３

＋１＝ ＝７ ７ ３ ３
６×７＋５ ４×３

３ ３
② ８ ＞ ⑦ ＞ ４４ ４ ５ ５

８×４＋３ ＝ ＝４ ４ ５ ５
４×５＋３

１ １
③ ＜ ５ ⑧ ７ ＜６ ６ ８ ８

５×６＋１ ＝ ＝６ ６ ８ ８
７×８＋１

２ ２
④ ５ ＜ ⑨ ＜ ４３ ３ ７ ７

５×３＋２ ＝ ＝３ ３ ７ ７
４×７＋２

１ １
⑤ ＞ ３ ⑩ ６ ＞８ ８ ２

２
６×２＋１

２

３×８＋１ ＝ ＝８ ８ ２

⑦ 定着 答え

７

29

11

24

59

50

33

27

19

27

11

47

35

31

17

25 13

30

57

23

13



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

４ １
① ＞ ９ ８

⑥ ５ ＞５ ５ ８

＋１＝ ＝５ ５ ８ ８
９×５＋４ ５×８

２ ５
② ５ ＞ ⑦ ＜ ３３ ３ ６ ６

５×３＋２ ＝ ＝３ ３ ６ ６
３×６＋５

３ １
③ ＜ ３ ⑧ ４ ＜７ ７ ３ ３

３×７＋３ ＝ ＝７ ７ ３ ４
４×３＋１

５ ３
④ ８ ＞ ⑨ ＞ ３６ ６ ４ ４

８×６＋５ ＝ ＝６ ６ ４ ４
３×４＋３

３ ３
⑤ ＞ ６ ⑩ ８ ＜４ ４ ５

５
８×５＋３

５

６×４＋３ ＝ ＝４ ４ ５

⑧ 定着 答え

８

17

44

19

14

51

16

23

49

29

39

49

17

24

53

27 43

15

13

23

41



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

３ ２
① ＜ ４ ３

⑥ ９ ＜７ ７ ３

＋２＝ ＝７ ７ ３ ３
４×７＋３ ９×３

５ ３
② 5 ＞ ⑦ ＜ ５６ ６ ４ ４

5×６＋５ ＝ ＝６ ６ ４ ４
５×４＋３

４ ４
③ ＞ ５ ⑧ ７ ＞５ ５ ５ ５

５×５＋４ ＝ ＝５ ５ ５ ５
７×５＋４

１ ３
④ ７ ＜ ⑨ ＜ ３２ ２ ５ ５

７×２＋１ ＝ ＝２ ２ ５ ４
３×５＋３

１ ３
⑤ ＞ ４ ⑩ ８ ＞３ ３ ８

８
８×８＋３

８

４×３＋１ ＝ ＝３ ３ ８

⑨ 定着 答え

９

17

65

21

38

30

34

31

17

14

31

31

35

29

15

13 67

18

39

23

29



４
１×４＋３ ７

４

４×７＋３ ＝ ＝７ ７ ４

⑤ ＜ ４ ⑩ １ ＞７ ７ ４

２
９×２＋１

３ ３ ５

２

２×６＋１ ＝ ＝６ ６ ２

④ ２ ＜ ⑨ ＜ ９６ ６ ２

４
３×４＋１

１ １

４

２×５＋１ ＝ ＝５ ５ ４

③ ＞ ２ ⑧ ３ ＜５ ５ ４

３
２×３＋２ ８

１ １

２×８＋３ ＝ ＝８ ８ ３

３ ２
② ２ ＞ ⑦ ＞ ２８ ８ ３ ３

＋１＝ ＝５ ５ ３ ３
２×５＋４ ５×３

日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

４ １
① ＜ ２ ３

⑥ ５ ＞５ ５ ３

⑩ 仕上げ 答え

10

17

10

15

13

17

12

14

30

14

14

19

11

13

31

19

13

16



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

１ １
① ＞ ２ ４

⑥ ４ ＞６ ６ ４

＋１＝ ＝６ ６ ４ ４
２×６＋１ ４×４

２ ２
② ５ ＞ ⑦ ＜ ３３ ３ ５ ５

５×３＋２ ＝ ＝３ ３ ５ ５
３×５＋２

７ １ １
③ ＜ ２ ⑧ ３ ＜４ ４ ６ ６

２×４＋１ ９＝ ＝４ ４ ６ ６
３×６＋１

４ ２
④ ４ ＞ ⑨ ＞ ４５ ５ ３ ３

４×５＋４ ＝ ＝５ ５ ３ ３
４×３＋２

５ ３
⑤ ＜ ３ ⑩ ６ ＞８ ８ ７

７
６×７＋３

７

３×８＋５ ＝ ＝８ ８ ７

⑪ 仕上げ 答え

11

16

16

23

15

15

23

27

15

13

17

24

29

14

19

17

17

45

44



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

１ ２
① ＜ ５ ３

⑥ ５ ＞８ ８ ３

＋２＝ ＝８ ８ ３ ３
５×８＋１ ５×３

３ ９ １
② ６ ＞ ⑦ ＞ ３４ ４ ２ ２

６×４＋３ ＝ ＝４ ４ ２ ２
３×２＋１ ７

５ ３
③ ＜ ４ ⑧ ２ ＜７ ７ ５ ５

４×７＋５ ＝ ＝７ ７ ５ ５
２×５＋３

２ ３
④ ６ ＞ ⑨ ＜ ４３ ３ ７ ７

６×３＋２ ＝ ＝３ ３ ７ ７
４×７＋３

５ ２
⑤ ＜ ７ ⑩ ５ ＞６ ６ ３

３
５×３＋２

３

７×６＋５ ＝ ＝６ ６ ３

⑫ 仕上げ 答え

12

29

14

39

25

19

43

16

41

27

20

47

31

13

17

17

16

33

32



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

８ １ １
① ＞ ２ ２

⑥ ８ ＜３ ３ ２

＋１＝ ＝３ ３ ２ ２
２×３＋１ ７ ８×２

３ ３
② ６ ＜ ⑦ ＞ ４８ ８ ４ ４

６×８＋３ ＝ ＝８ ８ ４ ４
４×４＋３

９ １ ３
③ ＜ ２ ⑧ ６ ＜５ ５ ５ ５

２×５＋１ ＝ ＝５ ５ ５ ５
６×５＋３

７ ５
④ ３ ＞ ⑨ ＞ ３９ ９ ８ ８

３×９＋７ ＝ ＝９ ９ ８ ８
３×８＋５

２ ３
⑤ ＜ ９ ⑩ ４ ＜３ ３ ７

７
４×７＋３

７

９×３＋２ ＝ ＝３ ３ ７

⑬ 仕上げ 答え

13

31

34

53

32

28

19

51

34

29

29

33

17

31

32

11

19

21



日にち：　　　月　　　日

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

１ ４
① ＞ ５ ７

⑥ ４ ＞６ ６ ７

＋４＝ ＝６ ６ ７ ７
５×６＋１ ４×７

２ ５
② ２ ＜ ⑦ ＜ ７３ ３ ９ ９

２×３＋２ ８＝ ＝３ ３ ９ ９
７×９＋５

１ ４
③ ＞ ４ ⑧ ６ ＜５ ５ ５ ５

４×５＋１ ＝ ＝５ ５ ５ ５
６×５＋４

１ ７ ２
④ ２ ＞ ⑨ ＞ ６４ ４ ３ ３

２×４＋１ ９＝ ＝４ ４ ３ ３
６×３＋２

２ ３
⑤ ＜ ６ ⑩ ３ ＞７ ７ ８

８
３×８＋３

８

６×７＋２ ＝ ＝７ ７ ８

⑭ 仕上げ 答え

14

22

36

10

43

31

44

20

34

32

27

25

21

68

67

31

33

22



７
１×７＋５

７

８×３＋１ ＝ ＝３ ３ ７

⑤ ＞ ８ ⑩ １ ＞３ ３ ７

３
５×３＋２

１ ５

３

２×６＋１ ＝ ＝６ ６ ３

④ ２ ＜ ⑨ < ５６ ６ ３

４
３×４＋１

１ ２

４

３×５＋４ ＝ ＝５ ５ ４

③ ＜ ３ ⑧ ３ ＜５ ５ ４

６
４×６＋５

４ １

２×７＋３ ＝ ＝７ ７ ６

３ ５
② ２ ＞ ⑦ ＞ ４７ ７ ６ ６

＋１＝ ＝４ ４ ３ ３
６×４＋２ ５×３

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

２ １
① ＞ ６ ３

⑥ ５ ＞４ ４ ３

⑮ ⼒だめし 答え

15

11

15

16

14

14

17

13

12

13

16

目指せ75点！

27

26

18

19

26

25

31

29

16

17



５ ＜９ ９ ３ ３

名まえ

・ 次の分数の大小を、　　  に不等号を書いて表しましょう。

２ ２
① ＜ ３ ⑥

３×９＋２ ＝９ ９
５×３＋２ ＝３ ３

３ ５
② ６ ＞ ⑦ ＞ ６７ ７ ６ ６

６×７＋３ ＝ ＝７ ７ ６ ６
６×６＋５

１ １
③ ＜ ３ ⑧ ８ ＜５ ５ ４ ４

３×５＋１ ＝ ＝５ ５ ４ ４
８×４＋１

１ １
④ ７ ＞ ⑨ ＜ ５６ ６ ４ ４

７×６＋１ ＝ ＝６ ６ ４ ４
５×４＋１

１ １
⑤ ＜ ８ ⑩ ２ ＞８ ８ ７

７
２×７＋１

７

８×８＋１ ＝ ＝８ ８ ７

⑯ ⼒だめし 答え

16

13

35

44

41

20

45

43

15

33

17

目指せ75点！

28

29

14

16

63

65

43

41

19

21


